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1 Introduction
It was agreed in last meeting from [1] as following for the IRC CA tests.
· Test scope and structure 
· Test cases 
· TM6/TM6
· TM9/TM9

· Test structure 
· Multiple bandwidths with 2Rx or 4Rx with 5, 10, 15, 20MHz

· Detail simulation assumptions are going to be decided during email discussions.

· Number of CCs to be tested with IRC+CA is 2.

· Applicability rule: 

· Baseline: 

· 1st step take the maximum supported CCs excluding the 2Rx only CA config among all supported CA config

· 2nd step take the maximum supported number of 4Rx CCs among the selected CA config

· 3rd Select only 2 CCs among the selected CA config and apply IRC with 4Rx CC prioritized.

· 4th select the CA bandwidth combination with the maximum aggregated bandwidth among the selected CA config.

· Companies are encouraged to bring more input in case the baseline description is identified to be problematic during email discussions.

In this contribution provide simulation results according to the agreements by following the simulation scenarios provided in [2] through email discussion in reflector.
2 TM6 results
2.1 FDD

Figure 1 to 4 show the TP curves for both 2Rx and 4Rx through 5MHz, 10MHz, 15MHz, 20MHz for FDD TM6 tests.
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Figure 3 FDD TM6 5MHz
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Figure 4 FDD TM6 10MHz
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Figure 5 FDD TM6 15MHz
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Figure 6 FDD TM6 20MHz
2.2 TDD
Figure 5 to 8 show the TP curves for both 2Rx and 4Rx through 5MHz, 10MHz, 15MHz, 20MHz for TDD TM6 tests.
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Figure 9 TDD TM6 5MHz

[image: image6.emf]-15 -10 -5 0 5 10 15

0

0.5

1

1.5

2

2.5

3

3.5

4

4.5

x 10

6

extern.SINR

throughput_actual

229877

 

 

terminal{1}.nrof_user_antennas = 2

terminal{1}.nrof_user_antennas = 4


Figure 10 TDD TM6 10MHz
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Figure 11 TDD TM6 15MHz
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Figure 12 TDD TM6 20MHz
3 TM9 results

3.1 FDD

Figure 9 to 12 show the TP curves for both 2Rx and 4Rx through 5MHz, 10MHz, 15MHz, 20MHz for FDD TM9 tests.
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Figure 13 FDD TM9 5MHz
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Figure 14 FDD TM9 10MHz
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Figure 15 FDD TM9 15MHz
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Figure 16 FDD TM9 20MHz
3.2 TDD

Figure 13 to 16 show the TP curves for both 2Rx and 4Rx through 5MHz, 10MHz, 15MHz, 20MHz for TDD TM9 tests.
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Figure 17 TDD TM9 5MHz
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Figure 18 TDD TM9 10MHz
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Figure 19 TDD TM9 15MHz
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Figure 20 TDD TM9 20MHz
4 Conclusion
From all the results above it shows to reuse the same methodology of defining single carrier requirement to apply to CA condition is still valid when it comes to 4Rx CA deployment. So we propose to approve the CR in [2] with summary results collected from all companies.
Proposal 1: Approve the CR in [2] with summary results collected from all companies.
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